Week 11 Tuesday
March 19, 2019 8:00 AM
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Ex 2. Given the following probability distribution:

a) P(—2.5 < X <2.5)
b) the mean of X
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Ex 3. Project 1 has a 35% chance of earning $0, a 50% chance of earning $300,000
and a 15% chance of earning $800,000.
Project 2 has a 60% chance of earning $0 and a 40% chance of earning $1,000,000.

a) Find the probability distributions of the earnings for each project
b) Find the expected earnings for each project

¢) Find the standard deviation of earnings for each project

d) Which project has higher expected earnings?

e) In terms of earnings, which project is riskier?
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